INTERMEDIATE EXAMINATION - 2019 (ANNUAL)
Model Set

Economics (3ef¥ms)

genrlefal & fore A5 —

Instructions for the candidates :-

%; gRlerefl JURIHg 3T vl H B SR T |
Candidates are required to give théir answers in their own words
as far as practicable.

2. grfesil 3R BIfR W 3 g &fd qurie ffde oxa 2|
Figures in the right hand margin indicate full marks.

3. TR T A WRIETefl I Te—HHT BT e I |
While answering the questions, candidate should adhere to the
word limit as for as practicable.

4, WW@WW$W-1SWWWWMW§I
15 minutes of extra time has been allotted for the candidate to
read the questions carefully.

5, e YI—UF & Wusl H ¥, WUe—3l U9 WUs—q |
This question paper has two sections : Section-A and Section-B.

6. U3 ¥ 50 RIS U &, F1 g Sifard ¥ |
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®, 3Rl TieT gRems s gh )

In Section-A, there are 50 _objective type questions which are
compulsory, each carrying 1 marks. Darken the circle with
black/blue ball pen against the correct option on OMR Sheet
provided to you. Do not use Whitgner/Liquid/Blade/Nail on OMR
Sheet, otherwise the result will be treated as invalid.

Grs—9 # INR-IRIS 7o & 25 gy yee & R ¥ fbsi 15
Tl B SIR oA A 2| U v @ Ry 2 ofe PR ) w9
AfoRe Tve—a # 08 dId ST g Ry 7y & R @ 5= 4
gl & SR o AIfard } | 9IS g B o 05 oid MeiRa €

In Section-B, there are Non-objective type questions. There are
25 Short answer type questions, out of which any 15 questions are
to be answered. Each question carries 2 marks. Apart from this,
there are 8 Long answer type questions, out-of which any 4 of
them are to be answered. Each question carries 5 marks.

frell avE B geragPE—aT BT TR afid 2

Use of any electronic device is prohibited.
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Ue | 1 W 50 T awTe yed ¥ e 9 ar Reer Ry v #
R & T WEl 81 oo g1 g T WE e B OMR—ie R frfeq oy

Question No.- 1 to 50 have four options provided out of which only one
is correct. You have to mark, your selected option, on the OMR-Sheet. Each

question carries 1 (one) marks.

1, foa wer & o “srvme g9 &1 s 2
'
A. Arefea B. 3=

C. TeH Ry D. 379 | ®Ig 8

Who said “Economics is the science of wealth”?

A. Marshall B. Robbins
C. Adam Smith D. None of thes

2 Argshiol’ [T aref gIaT @ —vier 79 § 9 59 ¥ Fafg 27
A. 3R ‘B. &
C. 949 D. i

‘Mikross’ which means ‘small’ belongs to
A. Arabic word B. Greek word

C. German Word D. English word



Wﬁﬁ'm'mﬁmﬁ%ﬂﬁm%ﬁ

A. ATStd B. 9y

C. feaw D. ¥+
Who gave the ‘Cardinal’ concept of utility?
A. Marshall B. Pigou

C. Hicks 'D. Samuelson

A 9% b AT 95 P STl— r

A FUTHE B & B. &% It &
C. 3= &t 2| D. 9% & #I 78Y |

The slope of the demand curve of a normal good is

A. Negative B. Positive

C. Zero D. None of these

AT SUAIfTeT e & g3 e § § @ 20

Aty AMU
A aQ B. A
&y D. 57 & B¢

Which one is the formula to calculate ‘Marginal Utility’?

ATU AMU
A. Q *B. AQ
AQ

—
=

c. A D. None of these



AILIDH TRIIAT DI AT H) olrg By & —
A I B. srdfifaa
C. 3a1E 9 31fds D. s&1E & &9

Elasticity of demand for necessities is -
A. Zero B. Unlimited
C. Greater than unity D. Less than unity

ﬁrﬁmmﬁeﬁa%fmaﬁnaqﬁa%aﬁmsﬁﬁ?
]

A. FEITHSB B. eTH®

C. I D. & 9 B T8

Price Elasticity of demand for Giffin good is -
A. Negative B. Positive

C. Zero D. None of these

HIPTCT S B e Frefafad § f5g frm & 2 @
ST 872

A AT 37 forgm B. gRadefer sumat a1 fram

C. UM & ufiwd & fem D, |17 &) o

Which of the following explains the short run Production Function?
A. Law of Demand B. Laws of Variable Proportions

C. Laws of Returns to scale D. Elasticity of demand.
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10.

1L

Afees o ¥ Frffad § @ fr At fear s 22
A 9T oTH B. ad arrd
C. e omTd D. Swaa @+

Which of the following is included in Money Cost?

A. Normal profit B. Explicit cost

C. Implicit cost D. All the above

3T AT 99 BT & — r

A. U 3mgd &1 B. X 3187 & ¥R
C. JfRacaTHR D. 579 ¥ &1 =&

The shape of Average cost curve is -
A. U-Shaped B. Line parallel to X-axis

C. Rectangular hyperbola shaped D. None of these

frefoRad & @ @19 a1 dom wE & ?
A. 3T AT IR FHT T B |

B. 3N7eT 3T YT &) AT Y g R
C. &1 3R 9 3=

D. 374 & 318 =&

Which of the following is a true statement?

A. Average Revenue indicates price



:

13.

14.

B. Average Revenue Curve and Demand curve are same

C. Both Aand B

D. None of these

=1 9 & SaTeT @1 B9 Ay |rE 27
A. ToiT B. sM
C. 9 D. g4 A &1 & |

Which of the following is an active factor of production.
f

A. Capital B. Labour

C. Land _D. None of these
o B wger § BT -

A. MR =MC B. MR > MC

C. MR <AR D. MR <MC

For a firms’s Equilibrium -

A. MR = MC B. MR >MC
C. MR < AR D. MR <MC
ffafRad & &9 91 FouT w8 2

A aXG B BT TG ITD! i B dra Aer wdaer 22
B. gt v 9 9 I’ SR Y 3R "ot

7



15.

16.

C. 4fdi 1 sM& oxa y9ifad ave €|
D. SYa w41 |

Which of the following statement is true ?
A. Price and Supply have direct relationship
B. Supply curve rises from left to right

C. Supply is affected by many factors

D. All the above 0

it 1 orE B Ao B T S

L e | B, AQ /@
Ap P AP/ P
C. AAEPS'A%S D. 577 & &I =1 |

Elasticity of supply is -

Aq = 1 AQ® /@
A. AP.P ,B' AP P
AP _ P
C. ac® *aqs D. None of these
UBIABR Tfrafier a7 srqemeon fras Rar?
A fBag B. =xRfer
C. siHY Jfa=a D. s9% 9 &g 98

Who gave the concept of Monopolistic competition is given by

whom?



£ g

18.

19.

A. Hicks B. Chamberlin

C. Mrs. Robinson D. None of these

b ®er o f&b “fedl avg @1 PHa qF Tun yfd @1 afeal gw
feiRa g 8 2

A ST B. aTeR¥’

C. =refd D. few

Who said, “Price of a good is determined by both demand and

/
supply forces”?

A. Jevons B. Walras
C. Marshall "D. Hicks

frefafad & 9 & o FaRer § w9 o0 @1 SEuRI 9ga

far?
A Raeret B. dreivd
C. arsta D. 5o & #Hgdl

Who ave the concept of ‘Time Element’ in price determination?
A. Ricardo ‘B. Walras
C. Marshall D. J. K. Mehta

1 # & gt & TR W IR —|HY /37afd Bl fbhaet srafdat § qrer

T 87



20.

21.

A =l B. &
C. g D. 3 ¥ B T
How many categories of Production duration are on the basis of

supply, the production time/duration is divided into how many

categories?
A. Two B. Three
C. Five D. None of these

' {
UPIEreR ufaaifiar o ffofad & & o & faevary 82
A. faadiRa Sdmea B. IT9IR &1 gt M

C. faspg amrd D. A 3R B g

Which one is a feature of Monopolistic Competition?
A. Differentiated product B. Perfect Knowledge of the Market
C. Selling cost D. Both Aand B

ok B F=foiad § o &) faeryar 87

A TS &5 B. il 3R fasmamen & SuRerfy
C. o & Ud 7 D. g9 w4t

Which of the following is a characteristic of the market?

A. One Area B. Presence of Buyers and sellers

C. Single Price -D. All the above

10
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23.

24,

3T SreaTer # e} gyf—

A. ofa: AR B. qui: seier

C. dreR D. 9 &1 =&

In very short period supply will be :

A. Perfectly Elastic "B. Perfectly Inelastic

C. Elastic D. None of these

AT BT APII—YaTg 7 omefier & —
f
A Irdfds—ygarg B. #ifedp—yarg
C. 31 3R ¥ =1 D. SWiad & 4 &1 78|

Circular flow of income consists of

A. Real flow B. Monetary flow

C. Both Aand B D. None of the above
oI & # aftaforg gar 2o

A FHfY B. TaxT @R

C. &g & D. §7H & @+

Primary sector includes-
A. Agriculture B. Retail Trade

C. Small Industry D. All the above

11



25.

26.

2r.

T A PN Ty B ?
A. GNP = GDP+ forgreae s B. . NNP=GNP+ftrarae
C. NNP=GNP-fErgrge D. GNP=NNP-forgrae

Which one is true?
A. GNP = GDP+ Depreciation B. NNP=GNP+Depreciation
C. NNP=GNP-Depreciation D. GNP=NNP-Depreciation

Wmﬁwa@v@amaﬁfmmw%~
A. aFd fager ‘B. I amy
C. o 3y D. 374 & 31 =18

Net National Income at Factor cost is known as -
A. Gross Investement B. National Income

C. Domestic Income D. None of these

ﬂ@amwwﬁw%@ﬁﬁ@ﬁm%ﬁ%mwé?

A. Sdre fafy 'B. 3rafafey

C. =17 fafy D. 3 &+t

Which of the following methods is adopted for measuring National

Income?
A. Production Method B. Income Method

C. Expenditure Method D. All the above

12



28.

29,

30.

ﬁwﬁﬁ%aﬁaﬁ?ﬁwmwm%‘?
A. HTeT B. srfaaRa m
C. i o o= D. Sudaq iy

Which one is a component of Profit ?
A. Dividend _B. Undistributed Profit

C. Corporate profit tax D. All the above

ﬁﬂ?ﬁ»‘rtﬁ‘gﬁﬁﬁ%ﬂaﬁmﬁmaﬁémﬁﬁmfﬁrmaﬁr‘
/

A. B¢ faed B. &¢

C. 9l0 ey D. &g

Who said it “Money is what money does.”
A. Hartley 'B. Hawtrey
C. Prof. Thomas D. Keynes

=1 & X qa1 3w B @l &
A. fafrr &7 A B. 7o @1 A19w
C. 31 3R g g} D. 7ea &1 "oy

Which of the following is Primary Function of Money?
A. Medium of Exchange B. Measure of Value

C.Both Aand B D. Store of Value

13



31.

32

33.

9% BT GO Faeh Bt g 27
A T ST B. 51 iR &y
C. ¢ &1 &1 By .D.sﬂﬁaﬂ‘é:@

Which is Agency Function of Banks?

A. Advancing loans B. Accepting Deposits

C. Act as Trustee D. None of these

ATTARIS §b BT B & — r

A BT AIe BT Frfae e B. DT B1 T WieR P
C. &SI &I ol =7 D. B 3k C g1

Function of Commercial Banks is to -
A. Issue Currency Notes

B. Accepting deposits from customers
C. Provide loans to customers

D. BothB and C

Rord 9% oifs gfear a9 v g ge ?
A. 1947 B. 1935
C. 1937 D. 1945

In which year Reserve Bank of India was established?

-



34,

35.

36.

A. 1947 B. 1935

. 1937 D. 1945
WW@%W@HﬁWﬁ%ﬁﬁﬁmﬁé~
A TR GuR B. 3T gerr

C. oY gur D. 379 9 3¢ 78

Narsimham Committee is related to which of the following -
A. Tax Reforms B. Banking Reforms

f
C. Agriculture Reforms D. None of these

WRT H HaT gfef @ e Wy & 7
A T&H B. g
C. IR -D. 37 3IE &

How many measures of Money Supply are there in India?
A. One B. Two

C. Four D. None of these

WE—HaT &1 faWIR BT @ W9 CRR
A. gear g B. ggar &
C. &1 3k g g+ ‘D.E_*iﬁaﬁ?g‘(:l'&"f

Credit money expands when CRR

15



37.

38.

39.

A. Falls B. Rises
C. Both A and B D. None of these

‘General Theory of Employment, Interest and Money' #ms RESER
D TGS B § ?

A drp B. #reery

C. Sl w1 Py D. Arefer

Who is the writer of the book ‘General Theory of Employment,

f
Interest and Money’

A. Pigou B. Malthus

C. J. M. Keynes D. Marshall

A 99 > T B. a1 < g9

C. 791d = fader D. 379 9§ #1$ =g

At which of fhe following point lncome—Emp!oyment Equilibrium
occurs?

A. Saving > Investment B. Investment > Saving

C. Saving = Investment D. None of these

B AT BT TG & ?
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40.

41.

42,

1 1

A k= e B.k= s

24 1 ; :
Ck= L D. 57 % #d 7
Which one is correct ?

gy Rt
A. k = m B k = MPS

= 1 '
C k= Ty D. None of these
Frafeiea & s o HfY  wfg 4
A. drdIe g B. #RRIvor
C. [Tt spor D. Sudaa w)
Which of the followings included in Fiscal Policy?
A. Public Expenditure B. Taxation
C. Public Debt _.D. All the above
HAEBITD TR Y & —
A. =T AT B B. sffemiT @

C. qot ISR HgerT o D. 574 &1 =&

Deflationary gap is the measurement of -
A. Deficient Demand B. Surplus Demand
C. Full equilibrium Employment D. None of these

ARA &7 foxfrg o & —

17



43.

44,

45.

A 1303 9§ 31 851 B. 1 S\ 9 31 fevgmw
C. 30 FceR ¥ 1 Ryqwaw D. 99 &1¥ =&

Financial year in India IS -

-

A. 1% April to 31 March B. 1% Jan to 31 Dec.
C. 30" Oct. to 1% Sept. D. None of these
IVIC B HHed rEfaRag ¥ @ @ 87

A. 9oic gifeggt B. gvic =g

{
C. 3 3R g g=) D. ¥ & o1¥ 7

Which of the following is a Component of Budget?
A. Budget Receipts B. Budget Expenditure

C. Both Aand B D. None of these

mﬂma%m?hﬁﬁﬁﬁ%aﬁﬁﬁ?ﬁwﬁa%mw%?

A. 3T Yob B. faspr &
C. 37 3R 9 g1 D. wwfy ov

Which of the following is included in Indirect Tax?
A. Excise Duty B. Sales Tax
C. Both A and B D. Wealth Tax

goie # B Hhar & —

18



46.

47.

A. TTH grer B. fa<ig =rer

C. yrrfas grer D. g99% ¥ &

Budget may include -

A. Revenue Deficit B. Fiscal Deficit
C. Primary Deficit D. All the above
JegeT IR B — ’

A T B. SUER &=

C. A 3R B 3y D. s:l;i q Prg T
Is Direct Tax -

A. Income Tax B. Gift Tax

C. Both A and B D. None of these

ReR Rffa @% 3 Pl 4 @ 1 4 w7 29
A. fafera <x &1 wautar goeh

B. faffwa &= @ Sevgqew yomeh

C. A 3R B <=}

D. 579 & 315 78

Which one is a type of Fixed Exchange Rate?
A. Gold Standard System of E!xchange Rate

B. Bretton Woods System of Exchange Rate

bE2)



48.

C. Both A and B
D. None of these

MR Iy = ?

A. ¥ W1 BT Al - 5w Het @t amarg
B.mammﬂﬁmﬁzﬁa—gwameﬁwmm
C. §¥ #:T & 1T — g3 7e¥ @7 frgfg

D. &7 &5 7

Balance of Trade = ?

A. Export of Visible Items — Import of Invisible Items

B. Export of both visible and Invisible Items — Import of both visible

and invisible items.

49,

C. Import of Visible Items — Export of Visible Items

D. None of these

YTAE AW B SAfT B W A el B 2 2
A 33T 7S 'B. 3rgeg we
C. gSit 3rRor D. Sugaa wfy

Which items are included in Balance of Payment?

A. Visible Items B. Invisible Items

20



50.

C. Capital Transfers 'D. All the above

4% o g ae & 0
A. T3fm B. dfasr
C. SETeRrY D. Swgaa w

Which of the following is Visible Item?
A. Machine B. Banking

C. Shiping D. All the above
!

21
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Section-B ( Non-Objective Type Quesitons)

oY I 93 (Short Answer Type Questions)

Wm1ﬁzsamageﬂﬁqaﬁ%a%wﬁrsﬂﬁﬁ%ﬁ1sm¢w
Hfﬁmseﬂﬁﬁérmmﬁﬁvzwﬁaﬁaél (15x2=30)

Question no. 1 to 25 are Short answer type questions. Answer any 15 them

in 50 words. Each question carries 2 marks. (15x2=30)

1 arfefe forar @ &7
What is ‘Economic Activity'?
2, SRR BT AT aveg w7 27
What is the subject-matter of Economics?
3. TIT DI THRT T 27
What is problem of Choice?
4. SUHIRTT FeT AT &7
What is Consumer’s Equilibrium?
5. ffe avgd @ &2
What are Giffin goods?
6. AT SHATT 8k et STAfTET # oy W N |
Distinguish between Marginal Utility and total Utility.
7 AT B A" Ry 8?
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10.

1%

12.

13.

14.

15.

16.

What is Elasticity of Demand?.

AT B aIferar q=r &7

What is Demand Schedule?

STUTET-HeT FI7 &7

What is Production Function?

TRadTie e @ 22

What is Variable Cost?

NI ST 3R 37T o & ey R Y|

Explain the relationship between Marginal Revenue and Average
Revenue.

Tt SREART v R § o aifr

Distinguish between Perfect Competition and Monopoly.

T IR § g fefor a9 g g7

How is price determined unde_r Perfect Competition?

ST 9 v & Switer & wiger A < it ey

Mention the two conditions of consumer's equilibrium in
Indifference Curve Analysis.

et ap R 2 3 @rer B wehy 87

What is Supply curve? What type of slope does it have?

aefwawna%maﬁa;aﬁaﬁtrﬁwma"rﬁm

Define Primary Sector of the economy.

23



37,

18.

19.

20.

21.

22

23.

24,

25.

T a7 & ?

What is Stock?

ﬁ@ﬁﬂﬁaﬁ?ﬁwaﬂwww@amﬁﬁaﬁr

Distinguish between National

constant prices.

UF Jfeqawen & 19 o g 27

Income at current prices and

What are the three sectors of an economy?

5T & GrIfid ard a7 27

{

What are the Primary Functions of Money?

a%q faf 9 gomeh frey pry 7

What is Barter system of Exchange?
U SR IREF R + aiqe we BITT |
Distinguish between Voluntary and Involuntary Unemployment.

Wﬁﬁe%%ﬁﬁ@ﬁwmaﬁl

Discuss any two objectives of Government Budget.

UqTel AT R 82
What is Effective Demand?
HIC &7 d9ie |7 &7

What is Deficit Budget?

24



<" ST 939 (Long Answer Type Questions)

szeﬁssafﬁﬁa‘eﬂﬁaaﬁ%a%m%‘lsﬂﬁﬁ%ﬁ4ma%w
a@w1oomﬁﬁélmw$ﬁsw%ﬁaél (5x4=20)

Question no. 26 to 33 are Long answer type questions. Answer any 4 of

them in 100 words. Each question carries 5 marks. (5x4=20)

26.

27.

28.

29,

30.

31.

32.

33.

AT SUIIAAT frm @ 27

What is law of Equi-Marginal Utility?

AT b W B GHeR |

Explain the law of Demand.

uRax=efier srgurd @ form a1 Gm ;ﬁr

Explain the law of Variable Proportions.

ot ufeifiar § od & dqe @ THE |

Explain Firm’s Equilibrium in Perfect completion.

RIS 3T ¥ 3119 97 6Herd 87 9% 39 A1) oy 27

What do you mean by National Income? How is it measured?
aﬂma%mwmﬁﬁ'ﬁaﬁmﬁwﬁﬁaﬁwmi
Explain the salient points of Keynesian concept of Income &
Employment theory.

Fawr & faf=1 Mefvet a1 Wit aofg o3|

Give a brief description of the various determinants of Investment.
THRIBR ¥ Heg BT FefRer S 2 27

How is values/price is determined under monopoly?
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